Questions from homework
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Put in standard form
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Find:

Local Max: 6

Local Min: i

Equation of Sinusiodal Axis:

_\jLa—
Period:

Amplitude: 5_

Horizontal Translation (C): &

Vertical Translation (D): a

Equation of Graph!




Determine a sine and a cosine equation for this graph
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A water wheel with aradius of8m makes one complete revolution every 20 seconds. If .
fthe wheel is submerged and the buclet starts on the sinuseidal axis and zoes up, XS
tind the following information:
D) Amplitude =D Ok =260 =18 e) Max Height < V3
a0
b) Period = @0 d) Vertical Translation=9 ) Min Height = =

21 Equation of the graph: 3 =D 5‘“[\% (X)-S '\'5

h) Sketch the graph for one revolution
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